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�λ = 1�§Ak1�Ì�§�~ê�ÃÌ�§�§|kÃ¡

õ).

Ï)�x1 = −1− 2x2 + 2x3¶

�λ = 10�§Ak3�Ì�§�~ê�kÌ�§�§|Ã

)¶

�λ 6= 1�λ 6= 10�§Ak3�Ì�§�~ê�ÃÌ�§�§

|k��).

14.)±α4, α3, α2, α1����Ý
A§¿éÙ?1Ð�1C

�§z��F/.

A =

 1 −1 0 0

−1 1 1 0

c4 c3 c2 c1
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
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kü�Ì�§�½�5�'.
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15.±A,B,C,D,E, F¤¹¤©����Ý


H =



3 1.5 4.5 7.5 9 4.5

2 4 0 8 1 6

1 2 0 4 2 3

1 2 0 4 1 3

0.5 1 0 2 2 1.5

0.5 1 0 2 2 1.5

0.25 0.5 0 2 1 0.75



(1)éH?1Ð�1C�§z��F/§?
z�5��F

/.
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¹4���þ§Ù{�2��±dùo�|Ü��. H�4�Ã'

|©O´µA,B,D,E¶A,C,D,E¶A,D,E, F¶

B,C,D,E¶B,D,E, F¶C,D,E, F .
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Ù{ü�þ�±d4��5Ã'|�5LÑ§�3¢S¯K

¥§LÑXê�Kê�vk¿Â.

²O�§�B,C,D,E§ù�

A = 0.5C + 0.5D + 0E + 0F¶F = 1.5C + 0.5D + 0E + 0F .

¤±�±^B,C,D,ENÑ¤k8«.

(2)d(1)�§H��4��5Ã'|¥7¹D,E§


A,B,C, F¥�,ü��Ù{4��5LÑ�§Xê�K��

kA,F�B,C,D,ELÑ§¤±���N�¬8´���§§�

´B,C,D,E.

(3)±B,C,D,E±9¤IN�¬¤©����Ý
K§¿

éK?1Ð�1C�§z��F/§?
z�5��F/.
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K =



1.5 4.5 7.5 9 18

4 0 8 1 18

2 0 4 2 9

2 0 4 1 9

1 0 2 2 4.5

1 0 2 2 4.5

0.5 0 2 1 3.25


Ð�1C�

−→
�F/



1 0 2 2 4.5

0 4.5 4.5 6 11.25

0 0 1 0 1

0 0 0 1 0

0 0 0 0 0

0 0 0 0 0
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